
tare ed 

aree non 

produttive 

b

superfici

e utile 

boscata 

c= d+e

superfici

e 

pascoliva 

P.L.T.   D

Carico max - 

UBA 

totali/anno

Superf. 

Pascoliva 

totale   f = 

g+h 

Superf. 

Pascoliva   

g

Esclusa 

dal 

pascolo

Carico max - 

UBA 

totali/anno

1 25 6 4,55 4,55 1,9

16 25 28-2-30-36-175 2,37 2,37 0,99

20 25 23p-25p-26-27 4,04 4,04 1,68

22 25 43p 0,93 0,93 0,39

33 25 47-48-49 8,9 8,9 3,71

35 25 49P-45P 0,99 0,99 0,41

36 25 50-189-190 0,81 0,81 0,34

47 26 100p 4 4 1,67

49 8 119p 1,31 1,31 0,55

50 12 30 1,33 1,33 0,55

51 8 197 0,98 0,98 0,41

52 8 203 1,21 1,21 0,5

2 25 9p 0,009 6,6

3 25 20p 0,0064 10,04

4 25 9p 0,0015 13,38

5 25 20p 0,0004 2,69

39 26 100p 0,0086 11,35

41 26 100p 5,2

42 26 100p 0,0052 5,93

43 26 100p 0,007 3,6

7 25 16-17-46-19p 0,0062 9,98

8 25 18p 0,0021 8,81

9 25 18p-19p-65 0,0045 8,22

26 25 43p-45p 0,0044 8,42

40 26 100p-106-107 13

44 26 100p 6,12

45 26 100p 0,0058 2,33

48 8 119p 12,47

Totale 159,6211 0,0611 128,14 8,53 31,42 31,42 13,1

Boschi Pascoli

foglio particella 

P.G.F 

Particell

a 

forestale 

Totale 

A= b+c+f

superficie - Ettari dati catastali

 


